Errata

Paper [II] contains the following errors:

The inequalities in section 3.3.2 should be ‘ws > wy > ws’.

The sentence following these inequalities should read ‘This analysis helped identify

issues that the respondents did not see similarly...".

The end of the second sentence in section 3.3.3. should read ‘... but v} was defined so
that the issues with the lowest occurence probabilities received the highest scores, i.e.,

Ug =8 — the average of the probability assessments’.

The inequalities in section 3.3.3. should be ‘w3 > wy; > wsy .





